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QUESTION 1

An administrator wants to create a common catalog through which users can request different catalog
items.

Which vRealize Automation service should be used?

A. Code Stream

B. SaltStack Config

C. Cloud Assembly

D. Service Broker

Correct Answer: B

QUESTION 2

Which tool can be used to visualize cloud resource relationships and associated misconfigurations, threats, metadata,
and change activity?

A. vRealize Suite Lifecycle Manager
B. CloudHealth Secure State

C. vRealize Log Insight

D. VMware Cloud Foundation

Correct Answer: B

QUESTION 3

Which vRealize Network Insight search query is using a nested operator?
A. vm where name not matches " [a-z] vm-delta [0-9] °

B. vm where in (vm where name = “x\\')

C. vms where memory >= 4096 mb

D. vms where ip address '=\\'10.17.0.0/16\\

Correct Answer: B

QUESTION 4
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An operator wants to check the health of the vRealize Suite components deployed in a environment.

Which two actions should an operator take in vRealize Operations Manager to accomplish this objective? (Choose

two.)

A. Check the SDDC Health Historic Trend dashboard.

B. Install content packs for the vRealize Suite components.

C. Check the SDDC Management Health Overview dashboard.
D. Check the vRealize Orchestrator Overview dashboard.

E. Install the SDDC Management Health Monitoring Solution.

Correct Answer: AC

QUESTION 5

Which is the valid use case for vRealize Automation?
A. Multi-cloud deployment with governance

B. Providing the compute layer for Kubernetes

C. Infrastructure and application monitoring

D. Central repository for Perl scripts

Correct Answer: A
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